Practice Paper (Suggested Complete Syllabus)

Class X (For Compartment Students)

(Mathematics/Tford)

9y : 3 e 3rferpdd 3 : 80

g e

1.

® NGO VA WN

9.

Y ue arfard &)

FHUAT YH—UF $I IR fI@AT YO I3 4 Ugd, U & v qq¥ fod |
$H U U3 A §d 30 U B, Wifd IR @usl I, 9, 9 X g § fauifoa 2
s 3 ¥ el 6 9T B, Ol 9l 1 3D D 2|

Gus § A g 6 U 2, ol g 2 3B b T |

s g H gl 10 U 2, ol 9l 3 35 D 2 |

Grs € 4 fd 8 YT B, Wl Gl 4 3D D 2|

993 d Bz 999 fdde 721 2| iy 1 3iF ard 2 9w A, 2 Al 9
2 Y H, 3 3l dld 4 ULl H AR 4 Bl 91 3 U H ATaRd fadeu
g™ fby ¢ 2| ¢8 9wl A amusl fay WY fabeul 4 4 dad e 9T B
BT 2 |

DAGACY BT YT afsra |

General Instructions:
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All the questions are compulsory.

Please write down the Serial Number of the question before attempting it.

The question paper consists of 15 questions and it is divided into four sections A, B,
CandD.

Section A comprises of 6 questions carrying 1 mark each.

Section B comprises of 6 questions carrying 2 marks each.

Section C comprises of 10 questions carrying 3 marks each.

Section D comprises of 8 questions carrying 4 marks each.

There is no overall choice. However, an internal choice has been provided in 2
qguestion of 1 mark, 2 question of 2 marks, 4 questions of 3 marks and 3 question of
4 marks each. You have to attempt only one of the alternatives in all such
questions.

Use of calculator is not permitted.



EUs 3 (Section A)

i n®-1, 8 T 9T &, A nd U &1 A fIRay |
Write down two values of n if n>-1 is divisible by 8.
31e7dT OR
I a=7q+r B, A r B G9ad 99 foRau |
Write the possible values of r, if a=7qg+r.
qiffepd sifpsi T Aede 11 I A 1d fbar Siar &1 39 g3 9 cf &1 87
The median of tabular data is calculated by the given formula.What is cf in
it?

|+ (n\2—cf) X h
2

Sifg @ITe 6 3w 77 Waw aHfiexor & 3 A9 § a1 T87
Check whether the given pair of linear equations is consistent or not?

X—y=8

3x—3y =12
g9 & e YSIF eFhel a7 fdd YOI &A%he bl Ui Sd Iy |
Find the ratio of the lateral surface area and total surface area of cube.
4T OR

TS AT & 3501 6 FH 8, o 31eliTiel &1 maas sird dIfvTy |
The radius of a hemisphere is 6 cm. Find the volume of the hemisphere.
qrer @7 TS H W U YT ATGTSAT HTAT STl € | STl T BT 10 UTed
B DI UIR—IBAT S DHITTY |
A card is drawn at random from a deck of cards. Find the probability that
the card drawn is 10 of red colour.
fdg (3, -4) B x-31&7 H I AT B |

Find the distance of the point (3, -4) from x-axis.

EUs d (Section B)

afe sin( 10° + O) = cos 40°8T, @ © BT T =T BT |
If sin( 10° + B) = cos 40°, then find the value of ©.
k& fba a9 & fog =1 g Ao & g™ &1 Afgd 8 2
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For what value of k the following pair of linear equations has a unique
solution?
kx+3y=3
12x + ky = k
afe fdg A (0,2), fdgaT B(3,p) @AT C (p,5) ¥ AR &I, @ p &1 719 A1
BT |
If point A (0,2) is equidistant from the points B(3,p) and C (p,5), then find
the value of p.
3AgdT OR
I IIUTT ST BHITY [T y-3tet, fgaii A(5,-6) AT B(-1,-4) BT ™ dret
TGS Bl dfedl 2 |
Find the ratio in which y-axis divides the line segment joining the points
A(5,-6) and B(-1,-4).
Jlders T gHRIBT RT 56, 96 31X 24 BT A4, Fd DI |
Find the HCF of 56,96 and 24 by Euclid division algorithm.
U el BT INT 28 FHT © 13 0.15 UfT I FHT BT <X A el BT 7 Bl
Y =T BT |
The diameter of a sphere is 28 cm. Find the cost of painting the sphere at
the rate of X 0.15 per cm’,
T sffpel W Usp ‘W 31 Gl IRaRAr difeld! I ISy:

Draw a ‘more than cumulative frequency’ table from the following

distribution :

I 3TANTSA
Class 10-20 20-30 30-40 40-50 50-60 60-70

Interval

8 5 13 4 11 14

Frequency

A4 OR
¥ IRIRAT d BT HI=T S1d DHITT:
Find the mean of the following frequency distribution:

g (ayt #) 0-20 | 20-25 | 25-30 | 30-35 | 35-40
Age (in years)

Tt gRBT DI G=T | 4 12 30 34 20

Number of

policyholders
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(iii)

(i)
(ii)
(iii)

15.

¥us 9 (Section C)
TP AR A0 @ 7d qAT 124 U BT ART 110 & AT 10d 3R 54 U8 &I
3fdR 30 B | AR Aot S BT |
The sum of the seventh and twelfth term of an AP is 110 and the difference
of tenth and fifth term is 30. Find the AP.
U BRI H 150 Ffdd & STH ¥ 45 BT Yaadqg O &, 55 BT B B, 30 &I
A T T Y AB YFAEHE & AT & | ST 9 T Afdd DI ATgeadT T
AT & | U §1d SIS & g9 1Y A &1 Iad GE:
AB &l T |
ozl

B T
In a office consisting 150 people 45 have O blood group, 35 have B blood

group, 30 have A blood group and the remaining have AB blood group. A
person is selected at random from the office. Find the probability that the
blood group of the selected person is :
not AB
0
B

Agdr OR

ﬁﬂ%@aaﬁsﬂaﬁaﬁmﬁw%%awmﬁaﬁmﬁwi—x%,ﬁxw
A ST BITOTY |

3
The probability of winning a game is % and that of losing is Tx.

Find the value of x.
A ST HITG:
Simplify:

tan?35%—cosec?55°
sin2150%45in2750

+ 2cosec’ 58° — 2cot 58° tan 32° — 4 tan13° tan37°tan77"tan53°

16. feu 777 fora §, ABIDE &8I, @ CD &I ddlg Sd I |

In the given figure, ABIIDE. Find the length of CD.

8cm,




17. fig PN & /5t uRey ww=r B |

Prove that /5 is an irrational number.

AT OR
SeNisy & B amTH® quiies &1 ot 4q A1 4g+1 @ wU BT 81T &, I8l q
TUEh GFHS UG & |
Show that the square of any positive integer is of the form 4q or 4g+1
where g is any positive integer.

18. \HIAR Ul 24, 20, 16, ... , —192 BT AfTH Ug A 2507 UG A HIOIV |
Find the 25" term from the last term of an AP 24,20,16..............-192.
4T OR

el ST ABC & ¥ A & BC WR WR STl T ofd BC &I fdg D &R 39
UHR uftress &Rl © f& DB =3CD & | R1g #IfSiw 2AB® = 2AC* + BC® 2|
A perpendicular is drawn from the vertex A of a AABC on its side BC. It
divides BC at point D such that DB = 3CD. Prove that 2AB” = 2AC” + BC®

A

1
C D B

19. IfX A(-5,7), B (-4, -5), C (-1,-6) 3R D(4,5) U agHsl ABCD & MW &, oI
9 g ABCD &I &Fhel STd BIfSTY |
If A (-5,7), B (-4, -5), C (-1,-6) and D(4,5) are vertices of a quadrilateral ABCD
then find the area of quadrilateral ABCD.

20. 3@ B b [&~P bl SHals 14 T4l & TAT 39 geilg RRI & aRAT
= &l qor 2l ¥ 39 oo @1 i Sl ST I

The height of the frustum of a cone is 14 cm and perimeter of its circular

88 176
ends are ~ cm and — cm. find the curved surface area of the frustum.
b )
21. afe tan C=;€T al sin’C TAT cos’C T HF ST HIfTY |

Find the value of sin’C and cos*C when tan C =§.
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24.

. x 3R y & foTu g1 DIy

Solve for x and y:
2x + 3y =46
3x+5y =74
3AgdT OR
TS = & 39 § 9 2 gS™T WY, a1 98 =1 2 # 9ga oIl 2 | Ife 3fw

awwﬁﬁsmﬁmw,ﬁagﬁﬂ%ﬁwmﬁﬁ%‘lﬁﬁrgﬂﬁ
HIFSTT |

If 2 is subtracted from the numerator of a fraction, the fraction becomes 2.

15
If 3 is added to both numerator and denominator, the fraction becomes Y

Find the fraction.
EJUs § (Section D)
Rig IRTT & ga & &N g w wef Yar wef fig & 9 arelt s w=
SERSI
Prove that a tangent to any point of a circle is perpendicular to the radius
at the point of contact.
310dr OR

faq U for7 #, AB 99 &1 Rl @7 7 | g $IST £BPQ = £PRQ T |
In the given figure AB is the tangent to a circle. Prove that £BPQ = £ZPRQ

R

A P B
o 3ffpsl &1 Aegd 33 © TAT SRR BT ART 50 &, dF x AR y BT 7F
ST BT |
The median of the following distribution is 33 and sum of the frequencies is
50. Find the value of xand y.

qut (FHr H) 1-16 | 16-21 | 21-26 | 26-31 | 31-36 | 36-41 | 41-46 | 46-50
Rain (in cm)

faat o | | 2 3 X 7 14 12 y 2
No. of days




25. Ryg BIY b a1 F9wY Sl & &%l BT SUTd 3] T oTiil ®
3UTd & I & RIER BIAT ¢ |
Prove that the ratios of the areas of two similar triangles is equal to the
square of ratios of their corresponding sides.

26. IfS x =p secO + g tan® TAT y = p tand + g secO =, aI RIg PR fF
x2—y2 _ p2 vy
If x=psecO+qgtanO andy=ptanO + g secO then prove that
x2y? = p* =y,

3Jdr OR
Prove that
Ryg ST &b
1 1 1 1
cosec B+cot®  sin =sint9 " cosec—cot

27.x6ﬁ?y$%ﬂ’§?{?flﬁmi

Solve for x and y:

3x+2y
=2
Xy
5x—6y
=1
Xy

28. AABC @ T @Iy fras BC = 8cm, £B = 45° 3R 2C=30° 2| S9I&
HARY U 31 3ol &1 AT DY ! goiid AABC &1 |ITd YoTrall
F 2 A
Construct a AABC in which BC =8cm, 4B = 45° and «C = 30°.Construct
. - L . 3
another triangle similar to this triangle whose sides are " of the

corresponding sides of AABC.

29. <l FHiaR 2ot & UM 9 UGT &7 AT 162 B | $99® BS UG P UXed UG o
AT 1:2 | 39 AR S1oft BT yerA dem g9at ug Sid dHIfy |
The sum of first nine terms of an AP is 162.The ratio of its sixth term to the
thirteenth term is 1:2. Find the first and tenth term of this AP.

30. AHH HI U Tq 3 HI. HAT5 ddb dIHR T ITH HW IHPR 7 | I
SHD AR DI AT 52,5 AN, TFoAl AdAIBR AT Bl foidied SHearg 53 Al &, al
Ag 991 @ fTT 3MMaed HUS B AFAB S DHITT |




A circus tent is cylindrical to a height of 3 m and conical above it. If its base
radius is 52.5 m and slant height of the conical portion is 53 m, find the
area of the canvas needed to make the tent.

3AgdT OR
Uh JoHTRR UTgy, STIdT &I 14 W4T 8, 9 91 15 b /€er @) &) 9
YFMTHR dTelld H 98 Y&l & | draid @I @idrs 15 |l iR drers 44 #1. 2|
fd= T # dreld &1 ol R 21 94T S6 SIgaT?
Water is flowing at a rate of 15 km/hr from a cylindrical pipe of radius 14
cm to a cuboidal pond. The length and breadth of the pond is 15m and
44m. How much time will it take to rise the water level upto 21 cm?




